
ASSEMBLY & INSTRUCTION MANUAL

INadb004V03_UK_FR

A00-013

IMPORTANT, RETAIN FOR FUTURE REFERENCE: READ CAREFULLY

*The maximum user weight is 120 Kg.
*Le poids maximum de l'utilisateur est de 120 Kg.



-2-



-3-



-4-



-5-



-6-



-7-



-8-

J 1 K 1I 1

E 2

D 2C 2B 2A 2

H 36G 1F 1

M8*12M8*12

M8*80

M8*35M8

M8 M8 M8

④ 1

③ 1② 6① 3

⑦ 1

⑥ 1⑤ 1



-9-

Remove black cap

1

1

2

2 2

2

22

1

02

01



-10-

EN: Step 3- Prepare the Mat-Thread all the 
bungee cords individually through the bungee 
holes at the end of the mat.
One bungee per Bungee hole.

FR: Étape 3 - Préparez le matelas, tous les 
cordons élastiques doivent être passés individu-
ellement à travers les trous à la fin du tapis. Les 
cordes seront entremêlées.

3

H

EN: Step 4 - Fasten the bungee cords to the frame tube. 
First fasten the two bungee cords closest to every corner, 
as shown in the figure below. You will then fasten the 
remaining cords in an alternating manner on opposite 
sides of the trampoline to ensure even tension through-
out the trampoline.

FR: Étape 4 - Fixez les cordons élastiques au tube du 
cadre. Attachez d'abord les deux cordons élastiques les 
plus proches de chaque coin, comme indiqué dans la 
figure ci-dessous. Vous fixerez ensuite les cordons 
restants alternativement sur les côtés opposés du tram-
poline pour assurer une tension uniforme dans tout le 
trampoline.

03

04



-11-

M8*12

M8*80

M8

M8

M8

E

E

E 2

D 2

C 2

B 2

A 2

05

06

4

D
CB

A

5



-12-

M8*35

F

G

G 1

F 1

M8

6

7

07



-13-



-14-



-15-



-16-


